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$  TheBillion Dollar Idea &
(.02 XnPr) (.12 MBwn wX1) DX Sw nn b non AN
PWPK INK
“A penny saved is a penny earned.”

If the N cares for money that is saved, maybe it also cares for money to be earned. Perhaps this is a
billion dollar idea.

You might have doubts, since you heard me mention about the solar-powered flash light. No this | think
is a much more useful invention, which has a much higher likelihood of earning revenue.

4% The Power-knife 4

An electronic rotary mechanism that is small enough to fit in your hand. It unlocks to allow the user to
insert a plastic or metal knife. The user than sets the lock on the apparatus, and presto, he is ready to cut

b | C
through the toughest meats served on his plate. a‘ $ J ] ﬂ.

We can add a button with multiple speed settings. Also we can add a light that can shine on the food as

it is being cut. ) ﬂ .

—
(:7u XP) DT AR IPRY 1% DI AR A AT 11K K T .11 °0K 11K

Just imagine the whole country falling in love with a product together. It might just be the greatest thing
since sliced bread.

Bon Apetit

(In case you haven’t realized, this might just be the “Joke Introduction".@)
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Free Stuff In X°11DD?
(.02 XnPr) (.12 Mwn wK1) DX YW nn b non amnn
Question: Are there items being given away for free in X°11997?

(:70 7773) °233 D1 X°11DDI P TANMAXR T .1
172X XNOU 910 107K IMND X199 71NN T AT 1IPW 0003 XOX WD XD WX AN N .2
(.27 ©°M0D) AKX NPT XN KIX T2 K X1 12 27 7172 170K 71230 1K)

Answer: No the items are not being given away for free. They are not even for sale.

on

J'T'\ /@ ,'T‘\
Ve T N

XN 017 XOM X XOM NI °XNA K27 K1 NN MR PURIK 7"K) 070 OKINY *27 K30 130 DI XM
(.% o’roB) 121 MU

(.1 o’roD) XOm
Lettuce
(.2 o°’non) on

To have mercy

on
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‘% Knock Knock Who's There: 11n°0
A 17°0 could mean a sign. In english a sign could mean a physical sign e.g. exit sign, street sign etc...

In the following list of visitors knocking on doors, what would be the sign on the door which you would
think might be appropriate, at the time of the Twun in that particular X713?

" RNX 7221 PAX 12 °aXK? 79 717 2000 212 AWRn M2 MXA 020 72 AR 1R 1AX R .1
(:X2 PLITR) 21021 DN XRVAT TU PR PR AKX PP ND1T I 107 XI3X TR 17X
(P NAW) °3 XOX 1A 1N XD WPPK XX IRP Xp 2210201 71°0120 XToM MR K .2

The Sign:

A welcome mat.

“ Welcome =

XN2W? 7D D XpT e DnnD KT IR TAK XX 770 X123 X0 XN 70 27027 15K XD .3
(TP PPm)

TIX M P WAY *2 92 XNV *XNA 77R1PR2 NUXIN XD 700 101702 T X W% 01pna pioT X - .4
XD W UAWT P2 2207 27T RN PNNK AAK XIIXK XTR Xp XN22W OKRNK XWRw *2 X0 707327
(3P MAIN2) DNWRIT DR TY DU TUR XN XKW XNX

The Sign:
@ Do Not Disturb @

12 X2 1 X2 PR P I 12 7 DX XX 70 XOX TR XIX PR D1KT 20 D 'K L5
121 79PN 19X 19K 7NN PN PR IR 13 7D K 1m

(.12 N12)

The Sign:

® % Beware of Dog % ®
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X3 12 X3 922w NP11910 090 DD NIRINK NXYP D1P N2 011 0P 922 27 K AN T NK .6
NPT XNAWT 2Un D3 XMIN XAPn? 100727 X2 mMa N2w 2787 NAw 2787 0°21710 2P 701
K71 7912 °KN TR X2 P97 XIUT 270 AR XNWA XN2A2°W 37 712 M X107 DD XNTURX
KON KIX1 XA KO0 XMIND RIT7 XO°1 712 UMK KITTPKD XP7U1 XKDODK X2IX XD K21
XOTT X XIN 097 0000 XIX AR 712 70K PAn? I XPT XN NPK XN2190 X290 719 1NK XU
(.72 M°1uN) 0’012 NTAYAY *197 71011 TN X279

The Sign:

uOut For Lunch ?‘b

12°DX XND>7°5 P X DX XX 7770 KNXK X°IUD P2 07X T XAP P2 X212 8xn ma X2 X n '™ 7
P9 ¥R XNIT XU 772 0K 79 2030 00 Xp XD X123 XITAK X2IUXK 0 070 Xp kD 'K )
(.12 TP TWN) PPl

The Sign:

Oh Brother

Here is a list of brothers of D°X111X1 O°XIN in order of the number of times that they appear in 0"
(.1 MN2’) OPOIT A XOIT M bW rnX mnir 1
| think he appears only once. >Xnw N2 > 71?07 XN
(.ﬂ‘? m272) PAr I 1 NuRY TN .2
The X nJ doesn’t actually mention what his name was. | think he only appears once. XX

(:1M21N2) XIAIX M X T NKRID M 3
(.DI? 777 AT2L)(:XD MIIN2) XIAX 1A X2 T AN XD 4

Appears twice.

(.05 MM22) (1P O TN PXINWT MAX O .5

Appears twice.
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(:30 XWX X22)(.12 1R TWIN) X277 MR NUW 2T .6
Appears twice.
(:712 M2IN2)(.10 1P27L)(:1L 07173) XD T MNX T L7

He appears three times. The X’ in 7274 is repeated in X712 X212,

Oh Father

Here is a list of the fathers of D°’X™MnX1 0°XIN who appear in 0”7, and were known as the father of so
and so.

(.72 7P TUWIN) XWX T MR

(:71 7X2m) >R 12 2P 1T AN TR M

(:mp naw) D17 712797 277 MAK 712 27K 101 K20
(.X3 1T7710) XA 72 0P 17 MAX

w iR

Maybe this was X27’s grandfather.

(.712 P©23) PAX °27T MAX

(:2 0P TWIN)(:712 PITAI0) (12 NPILN) X1 IT MAX POK

(:u ©°mar)(:3 0°1oB)(:PP 0°M01D) NI 712 X7 "IT MIAX NI
((:30 1°217) 7DOM PX) PXRINWT MAX

o N o n

D°X7NAX1 D°XIN

X1 "
X971 XNX 2 > TY AR 770 X2Pw2 DK XA 91T DIXT XA 2772 X377 279 XT0M 27 7Y nanwn
XD D NP XPT 01 DK TP TPEXD 1APTTIX XI12°01 XD DK X710 NOYID XY XAUD XA DK X710 0719

AN nuT NP'?D 777202 72N PR 92 AWK Xl X9 MY 0wy 12 X7 TPRUW? X177 27 N203T TU
(:v2 PYNTR) TPIU NATTA PR )

OK! So now X111 "1 had to get married.
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n02 9"X PPOIX FPNXA K*IDTTT IXD °K X123 71731 X123 72 TAK XNUAW M7 Xp) X107 7Pnp XIna [ 2
(. MnN2°) NX X771 0197 2"X 9K X713 0195 5K N2 X2°79 XN9I0)

Anyways, why is X911 bringing up PO after their XNUAW discussion? Is it possible that X113777 ™1
needed to get married? By the way you see here in this X171 in NN’ the statement of X711 to X110 7,
and that X211 was willing to be 9’1 so to speak in regards to the O of X111271 7). Perhaps X911 might
have been more 9’1 in some matters that pertained to 101 than other D’X1nX. Take a look at this
X031 in PYITR:

2 2°010 Xp X? 10" DK 2°01 X1 D737 AN 277 772 PR 272 77 A 27220 XDPTAR10% U9RK KO
W1 2°N27 A KNP T IPNXKP X277 [PUT 0 X 10K 779 K 0IX X2°10 XIUT 0 9"K 17722 XNPK N
112 2°N27 TR XN w3 7217 PRI N2 DU K277 7AW 072212 TAIY X°N 2D AT 27U MDA 1Y (YA
DMVA *191 DN °PNWNAN DT 12 17X KPP0 12700 1 90K MO 21 010 [ Mvn D0 0220wl
DU O7PNIUNA °192 D°A DPPNWNRT DIWR P21 WX 192 ANY 129 220271370 1"K 03X 1 13 970 000y
PRI AT DIPMYA PRI AT DU T PRI PROIXWY DX 12 19K 171K 0K XPX 0001 WK 170

) XMPPNW N2 271 779 XK 7201 27 779 1K DAY APXY U N20WA 0Mo1Y 0100 D 1T 0wl
(:XU PYATR) °D0 O KT AKX PPN 07TRT 7730 0 10 0TI 2702 20 22 XA 2 X200 232 2R TAT UK

Perhaps 77 "1 was 2221 this from X914,

Perhaps you can ask which X111277 "1 is this?

Two X111 "’'s

27 9K P20 12 X0 27 KT 20173 KT 277 0N0N 1T AKX T YN 1K T 9KINE 27 XKNWn
MNAD1 P2 TRD ANK DAX M@y Tndn XS 22027 W 710 KT 00 27 WA 1R 0K 127 700
(.fu Naw) o’non

"u% DWIK NP0 DWA DX TR0 AT TMH PITUA PR DT AR T AWwOn N K i At " e

(3o P217PL) XTOM 17 1WA 1IXT KNN3 TIX X120 2T
DP1INAT MAWN2 1°X7 2 WK MM AXI1IAY 2PX0 O @ AIRT :°Un ow : XPn a7 0"
TR 12°0 IRIOKTNMI T MIwn T MK 0"wn nTon

P91 X271 UAWNRTI XTOM 1 5w 17ndN AW T N0 XINA0 TN EOXRT XDI02 I XINna M a0 'on
27 5w 1PN PR IR TP TN APLIR 977 XINAA NP XTOM NP0 7K X237 220 223 PUITRT XNp
(.30 P21PPY 'OIN) TP WX TP MPKTA 22 XA 279 27 71D KT PR 7Y pina P ubT

AWwon W1 2" L OWAK MM A2 ART A2 0w by nnon

X2 M7 277 7PINXA 12 X730 PUnw M2 X XINR0 27 7PNAw NURY *2272 PIKT XN KT XTR0 XI5
(v MAW) >3 TS 1D UK
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Question : Why is the 5”¥17In saying qwan U110 like XN and not like 27. Also X317 "1 acted in
accordance with the fact that 13IX7 XN is 277 7°INX so maybe based on this the 2”171 should also
understand the definition of ¥ in accordance with the definition of 27?

(.37 P©23) 1272 Mawn N

First of all NM120N says this was the other X111177 "1 so maybe it was no longer 277 77°NX. Second of all
N1001N explained in NAWw that the NP1 is only where it is mentioned in a TIwn or XN*>73, but in the
XInlorin >’ it could be that it always means fqwon.

Here is that MooIN:

ANX T A0 KXY 110 22027 7170 YWIANX 1U09 ]’ﬂ'?l?:) 19X XDD "1 IAKT K12 2rHDT L1 PO RWINAK
"D XTI PRI H 1K IR S NIX AW 1Y XY YL AW 01T 1K T XYY P 0°DWw) My’
XM”722 X 1IN 0PN D12 1071 XP1INKNX >PHD KPX XDD "1 KT K012 PRI 1121007

(.71 NAW XWX 1T 'on)

In our X071 in JUP TUIN we have 17 instead of X920 "7 like the XO7°1 of the W”X7. The “XB22” is in
parenthesis in our Xn1Y's. >’ in VR TN seems to say like the 7174 and not like the *”7. Even if >"uM
had the X0} in JuP TN that we have, you can say that he means to say that YX1nW also held of the
X172’ and he interpreted it differently. So based on this perhaps we can say in the 9”177 that
according to >’ even if the word ©13n is used in MM of the D’X MK it is still subject to the NP1MN
X1 17, but when the word is used by the D°21wX1 and further it means fwan.

(.12 K1) X@IAK 1D 0P 1 1K 17D °K1
M9 1YW 1K1 TN AWIn "D

-
-

..I

-

EIEEA
(.21 Pw) 71272 MAWn W

This case in X107 is an exception because there is no way they would name a room in the w0 N2
after a 217,

Alternatively and possibly additionally, perhaps we can say in general that when they named a city after
someone it was giving them honor. If we give them honor it could lead to us coming to learn something
from them. If they are a >217) then learning from them carries a 111’72 21°11. So in instances where we have
a city named after someone, we always say that person was a qJn and we never say that person was a
D17,

If he was a *D171 would we care to remember that he was the one that built the city?

P20 ° 112 PIIUY TARY 0T W2 7PnY PWn NN Ik T MUK AT N M RN 02107 KoK
(.70 7IXAM) FDWX OW IR 720 DK PR 12 11211297 AWK DU PR
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| want to suggest that even if he was a *917) we would still call the name of the city after him if that is
what the 0’2212 >721U call it. My proof is from the following two Xn1's:

107P 2°N311231 07 93 U712 N7 XIWT 072910 NTAUT KOO 72 XTOX XAIYH 93 prive 72 jam 1 InK
(:712 12°30) 3 Xwn vhn 1927 XD P 1912

oW 712 MI2Y X177 13270 X197 D1P37 172 DAw DX DNTINIM 9 Xpo1 2 XID PInX wIw? i 12°07 2
722 X2 U9 XK DR DX DNTAXI "N PINX WD IRy 022212 DAY I8 I TR X1 XINT
2127 XPX 7"0 MAwH maws 7127 0w 12 Mk X0 D1PRiT 1A DR DX DNTAX 2N 7N 12 OX NT7ARN TAX K]
172 AOIX PR X023 P2 MK PR P TR X X 0T 0 128NN UM BERpwN e 9" K1Y X9 mawh KO
(-7 71T L) PP U P U XD

So it occurred to me that the aramaic word 137X might mean “anger” meaning the city is named a place
of a “cause for anger”, namely that since the founder of the city was a >271 as defined by >”w7 in N2w:

U D’WINX N°0M Own DX AN AT 7'U P1TUA PR RITA NK T
So we are calling the city a place that is a cause for anger.
Here is the proof of the definition of 117X:
This is the first P00 in 0727 NW9:
(X:X 0127) 712702 72702 7771 1282 PRI 92 9K Awn 127 WK 077277 19K
Here is the D19P11X 013N on the words 7127102 712772
NI N2 IPAIRT DU X12702 1207 DU nan® Now
Perhaps you can see here that 1°17X7 might mean that they angered Hashem.

So perhaps in calling the city 13IX7 XN711 we are calling the city a place that is a cause for anger, based on
the fact that the city was founded by a 1”12 P17u77 2 and he was 1”37 D°WIX N°0n so he might have left
in the city followers who continued in his path etc.. so it is a city that is a cause for anger.

By the way the word 137X could also mean “Box”.
(:21 XnPr) DX POK? T PN IR 1K
(.7 X7N2 X22) DX P POXRD 1T D°NWHD 12 1T TIK

These are both Xn>12’s.

Previously we asked the following question in the previous piece about X111271 "1 needing to get married:
Perhaps you can ask which X111177 1 is this?

| want to say that the X11In77 "1 that needed to get married was the 71710 of X701 71 and not the 717N
of 2.
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Daffin In 0”w

12-12

Some O°XIN who'’s names appear less often in 0”w:
(:12 FI10)(:12 MAIN2) AXP1T 12 77777

(:12 P2IPL) (7 XNP X322) A3 A

mn2-1a
(:112 P©>3)(.12 M21IN2) O1272 MWW U

NX5-m2
(.2 M21n2,.02 D’M0D ,:M2 NMI272,.M2 712°3N) MPA A XN S, vy, 1
(:DD ]’WW’P) 171728 N7 Yo 1Y
(.UD xm’) X7 X7 P01 772U WP 37738 a0

XTI XNX 2D PR IR0 7 XKW DK X 91T DTXT XA 2772 X0 279 X701 27 7D anwn
DX M1 X970 9K PPN PEXD 1IN X12°01 X927 9K XITI0 NO’ID KXP XNAUY *Xn "X X770 019
N’X XOX JNUT XPD0 7177202 717282 P 92 AWK X XD T 0w 12 10KT PREn? X1 27 N2037 Ty
(:02 PYNTR) TPAY M2 PR 9

In X1 it is the first words on the 77 and in PY1 TR it is three lines up from the end of the 77, so | say
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on this

(:X5 PYITPR) 77127 WXAW 191 127 0N

(:2 7)(2 PwrTR) a1 nxwun nned mxiw b b

X5 X?
There might be at least 3 X?1W’s in 0"

(X2 PeTR) M XL L1
(.X% P3un) XA R L2
(:x5 Mmw) X .3

Happens to be there’s at least one more:

(.Ju MNI) XaX 1A x> 4

1525

131 "1 X918 : He holds like him, he doesn't hold like him etc
(:2% MAIN2) XWX XD XAUY XA 1307 ")

(:35 0°102) 727 1AM 91 7P NPY RN

o>

TPOX X2 OXI AP

2100 MK 1307 227 10 AT 2100 MK W’P’? 12 NUNW 2N 57 XN 2100 MK 13711 227 NUTH N0’ 1NNXKT
(.'l’? 0°ron) 1 » UMY 717007 PR X2 QKXW 7 XN

NP XK IPUK 2I00°0p X2 021 P 12 A% 712°7% APK 17K A1 237 720 N12wn? ponn 1nneK
XD °1 71997 09197 XIAWKT X7 70K 1PDK K22 X 720 1307 °27 X120 XK NPUK X120 X°K NPUK)
(:7% M) 12101 U191k XNPn °Pan on1 XNwn X0 0127 1hn N3

™15

(19 71°2) (2% P2°R) O3 X2 72 AP N IRK
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There are two NIN20N in 0”W where the X173 tells us T 12 °0°XD 71277 on X TRy 27 7.

"3 PIVD OFPIW T DX DRI P DI PAW X 7200 TR P IR 1002 P00 taw 07w s hinn
MR P2 W'Y 0K AT AR XIAW *100 277 P 10K AN 12°0°K X2INT A7 12 °0°K2 X927 "1nn
DND2 71297 31 "1 KM 27 3 K A1 TP 12 70K 1290 3 ' AR My P 2100 Mvs XY
DIPIW AW IX INPTA PRAN MR P2 w82 PINN PI0D YT 0PI P K 7200 TR P IR 0 wn
TN TR P IR TAKP 220 KPX XU PRI DI 0D 900 TR P IR XDW0 9" 0 X P1eD Py
(.2% Xnp X22) P7IVD YIM21PEX PYI OPIW 21 7200 TAXKT P IAXK P12 DaK mwnwn P wtua X2 D

XAXT IR TIXAT DX I XIX T2 °IX IR MUY D) 020 Ppwn TmIK XX IIK X200 12 119K
222 X177 797 DN T DU AW DPINK T DU Mwwh mMyn? IwoK OX TR T 12 207K 11X 02277
(.2 PwrpR) A 12 °0°KD 1297 NN IR PAX

70 2%

Here are two places in "W that | have seen the D1?w W quoted:

N2 37 DPRWI1 TMOK T2 1T MKIA? NP1 XA 1277 017w W 120 Ow3A 2102 X¥XA Ry Mam L1
TIAX 127 OT 172 XYY NI 20 DI (PN [P wan MK K 7T W 0N
>172 °111 °271 71" MDOIN 70 NIAW) MTIA TP PX DN 17 2007 172 XYY N7 00T
(07

(.2% 11210) 21091 X177 DA DU XY T2 0T X291 KA X2 KT .2

Artscroll : Concerning a Lulav that grew with a single row of leaves it is considered blemished
and is invalid.

Note 8: The Elucidation follows Rashi, who explains that the lulav has leaves on only one side of
its spine. Others explain that Rava refers to a lulav with leaves on both sides, but the leaves
themselves are single ones rather than folded double leaves (Rambam, Hil. Lulav 8:4). Yet others
explain that the reference is to a lulav that has normal leaves, but there is only a single leaf along
the length of the spine on each side (Rav Sar Shalom, cited by Rosh). Tur and Shulchan Aruch
(ibid. 645:3) cite all three interpretations and rule that all of these lulavim are invalid.
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70 70

TPIIN 7RI PXWDI2 P07 RT KIXN 122 X7 77 7PR7°00 MPIPK 179121 X317 720 PRPw 2pi 12 XOX 10K
(:70 MnY’) mPua

He brought the P09 of 1912 °IN N2M7 which means “Wisdom shall make its owner live”. The fact
that he brought this P10 might imply that his life was in danger. Perhaps we can say that in fact his life
was not in danger in the literal sense, but it is like it says in 0>771 NJ0N:

(:70 0°773) °2IX NN PX DX 013 S 7127 INXIW NN W %1210 XY 0OIX 525 12 DY MR
I’'m not sure when they were born, but 2p1’ 72 XX "1 had at least a boy and a girl.
(:2 PYNTR) 2PW 72 XX 277 7°72 2pW° 10

(.o WI0) 11PN72 72 2PW’ 1N

70 70

Perhaps we can say there are two NMN2J0N in 0”& where 21X was 7010 on a 01 on 2 71U 70 A7.

DU AKX IR XOIX JR0°27 177712 X2PK 17172172 °K 130 772113 7K X271 730 19031 9K 7K TaneK .1
(:70 O°10R) XO’IX 11°2N0 SUn 19747 17D 11N

1’71 joNX° 177 71772 °0°KT 1072 7RIS 71201 PIX) 2K 174 770 XNI201 XNOK NIwpT om Pak oK .2
INX 2°2W1 X177 7132031 27281 1371 72 73 1277 1°73 PrX’ 17 2°2W1 XN°PT72197 X207 73017 0T 277
(:70 M%) J21°K7 2 PWRID XTI TIUT XX 1 X271
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IR0
Here is a J72°D to remember two PNP12Mn between X and X27.

TTUDK 227 KT MUK *2772 2220207 1310 017U AKX X2 1IN OP9RN 19U TAK PaK R .1
>277 7P IPX X2 TTUOK 277 770 P9 2K P01 PR NR100 AXWUY TU 9220 XY 170 XD
WIDX 120 17 2390 p KT X MUK 2277177 1PX XnOU 09107 XK UK TTUHR
(:0 PYITR) 121 1PN 17112 PUA 120 131 100 11w R NPwIEN

»IX XOPIX A0 A7 177177172 X2°K 171°°3°2 °XN 130 PRI 10K X327 130 174833 7K 2aX IR .2
21121 XO?IX 117270 K21 7130 121 1K X271 XOIX (372701 *28n 19747 717 130 19031 K
(:70 O°roD)

The 12°0 is that in both these NP2 you always find that X271 holds that extra effort was
needed i.e.&e.g. by the people to close the doors or by X1111 to force the people to make 17774
according to the second X127 (I think 0”277 based on D°11X1 always paskens like the second
X1 | think | saw it in the 0°92 X3 in PwI3 M2%7, Ill try to update this later 773 °92).
Whereas X always holds that less effort was needed. The doors closed by themselves and the
people made 77774 by themselves.

(v 11¥°2) XN 12 X203 17D IR XTI AN

Since we mentioned that »2X’s 7’ is that we can be 0171 24 10, | want to point out that »aX is
NS in the following wun in PYATR:

TAX TPNUAY PTIANA MO XTI XNK 22 2AKT PR MaX PIIw 2pW 13 XAX T P72 2P0 T XD
PN 7278 177 227 »ANT 133712 PP KT M DX T XPT AN N XIK PPRT DX 210 PR XDPTU KIK 7D
NPT 1127 °2 X177 N2 DU X021 WP IINAT IWEK XPOWIX WK PP 22077 K2 172 10K PRI N X1 19°0K
PNPI0 X021 WPIINPK XD X 1A% 1719 0K 7Y T NI U707 1002 P2 i AuawT XN i

(:IDD '[’WT'(’P)
Take a look at this X701 in 0’1109 here:

NN XPT 20 20 X2 7 POXRWR BT T P72 X0 2T PP XD N DK DI D pw i ax
NI XN XIX XDD 1779 0K PP D T P02 X0 2791 PONXAYD XD D XITAX TORAYT POXD
(:X°p D°M01D) 72 NR»P XNUW DX 772 XD wwn 897

So was he being 77210 on a 01 over here? In P 7R | think it is explicit that he was 010 on a 0], but in
0°1108 | don’t think it is as clear from the X773 that he was 1210 on a Ol.
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7’1’01
(10 71¥°2) XN 1773 X203 179 IR DPXRIT 91 AR
Since we mentioned »’2X just now | want to add one more 172°0 here to remember another 712’ of »aX.
There are two places in 0”7 where »2X tells us about the importance of not being jU> 119 nMo.

DU IPTIX AKX 1N 0°9AX T2 KNP0 XX 01p 2"K 121 7PIn3N7 *3nm 12 D 127 1nb

0’27 1NW 0’27 WX’ WA X1 2203 TUY NTU X NXTNXT DX NP2 02329 130 717 232X PRI
MW 0°27 AKX AKX 0°22X 0NN 702 DINXK DAY MR YU 100X 20X AW 2 DK IR 1N’
0P T PRWA XIN 1 WPPR 12 wUIKT XD XD PIINX NwR XD WK INwR XD XD 1Nwe 0027 XD
(:1 M2IN2) TS PO 0T TN’ DX D9UH

| said this is the MY’w of 21X, and | will go further to say that the 0”2m7 and 7211 pasken like »2X.
('3 7°u0 "7 70 1 AKX U AW '3 71227 N12712 MaPan P pIo 0"anT)

(12 Naw) 297 927 17277 »aX D 1K 121 71291 121 o " K

So is there another MXT 1Xn who says we don’t have to be concerned about being JOw? °m1D MND?

Well there’s XX "1 in 1273, and there’s w*p% w”17 mP3R3NNNA 777 1 in M21N2. We said in the X773
that ’pP> &’ himself holds of JOW» P19 X NMND*Y XD, So is it possible that the jRIMNN of W2pP% W™
doesn’t hold like w°p w”1?

Take a look at these XnJ’s:

NUIP °XN WIDR Xp) P90 27 0p X2°w 2277 7108 0k XNnK i X? X2 w 277 Ink? uhpKk a1
PPN MPaPR XD XTI N1 NP 21K DMK XN X 0 X091 KDY 027 7D K K23 XTP 230
S N DX TR KD1D 0K XD X123 KR 7230 NXIR KA XILPT1001 K11 T R0 XIKP M %D
1 IAKT XX PR P19 79 NN X CWPK PTAK DK T 11 2773 10 R XN Xp XK
(22 XnP) PPN PR IR POun 7 K

121 7R3NN : XA P XY "7 " w1

OK. So maybe that isn’t a good example since 17 was acting as a temporary ]R30 not Mu’1p2
also he was very 21w, and you can see from the story that X2° >27 would not have asked 171 to
serve as the j03MNN if he would have recognized who he was.

Here is a better example:



n”a

NIk QT

DREF B0 INSIESTS

XU 717X IIXT 108 107 XX °17% 7175 X P2 XIX XIMPU XPNX 70 2270 172X 70K
(.1 7ID) XIX KINPY XD XIPAX 7P X921 XnUw T 7PMNK 1K)

Here is the second place that »aX holds JOW? °n1D WK NNDH K7:

N 712P9P 7127 12 UK DX 12 XYPIA 71T KN PPOK T 71000 X0 0 IRIX pInn 2% 01237 1312710
TOWS P10 MND°D X972 WPPK XD KD »IX TAK PIINE P27 717192 PNNPR XD N APP9P 12772 UK OX)

(.o n1o73)

The n°0 to remember the two places in 0”& where »2X says JUW? 7210 W’PX NND°5 XY is the letter “1”
and ”0” put together spell out the word “or”
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